Sum of an Infinite Geometric Series

If half of a pizza is left and you keep taking % of what is left over and over, eventually, the sum of the pizza that
has been taken will approach 1.

stetst zlg + -+ approaches 1. Even though you continue to add more and more terms, the sum

will never go beyond 1 because the amount you are adding is less than 1.

In a geometric series, if || < 1, the sum of an infinite amount of terms is So, = —.

(Ifif [r| is not less than 1, then there is no infinite sum ... the sum will keep getting bigger and bigger. An
infinite sum in that case would not exist.)

Example: 2 CD(\\[ W"

< fo
1. Find the sum (if it exists) of: 2\-;+ +E+ O [’_( \) UM\ TR

cs T o e uien

!

2. Find the sum (if it exists) of —+ 3+ 12 A8 i

¢‘\

YA
&0 N0 \n% nAe, S



Decide whefher the inf
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Find the sum of the series (if it has one).
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